3 | 1132 Z 2 RABERF 2R E | 3| v w0 ow
7
NS m®# iz jd~(R0) 2 T bl 1 4 NS #%2 24 (PO 10
EW m&E muks (P0) a e EW =g% %22 (R0)
B# | DL | & #% ol 4 L ik REAA | COP Datum
1
i txzex | NS | EW | cxn22% | NS | EW | #2 | #4 [#2 | #4|#2] #a Mean NS EW
21| N | NS 5DES 400 3NW5 460 60 2 EW230 -5 6
22| E | EW 2SW2 110 4SW-1 100 210 5 NS10 -3 -3
23 | S |Both 2HE4 170 2NE2 120 50 2 EW530 8 -9
24 | W |None 4SXS-1 100 3SN3 140 240 6 NS50 -4 -3
25| N | EW 4SES5 650 4SE4 620 30 1 EW600 -2 1
26 | E |Both 2HW2 110 1NW1 90 20 1 EW90 -1
27 | S |None 3NW4 430 3NW4 430 EW420
28 | W | NS 4HE-1 50 2NE2 120 170 5 EW180 6 -2
29 | N |Both 3NN3 600 3NN3 600 NS630 -1 1
30 | E |None 4SW5 450 4SW4 420 30 1 EW380 -2 1
w3 IMP| 7 |16 -4 | -8
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®a 2 33 4 BF
+ B IMP 7 16
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# 3VP 6.86 13.14
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M

NS Ry mE<(R0) 1 4 T bl 2 1 8 NS #» % mnm(PC0)
EW 3zv#% #H# 20 a e EW #=z#&= w2 2(RO)
B# | DL | & 2R M3 ES R A~ COP Datum
1
¥l z9zmx | NS | EW | 25z2% | NS | EW | #14 | #18 |#14|#18|#1a]#18 || Mean | Ns EW
21| N | NS 3NW3 400 3NW3 400 EW230 | -5 5
22 E | EW 3SW-1 100 2HW3 140 240 6 NS10 3 4
23| s [Both| 1DxN-4 1100 | 1CXN-4 1100 EW530 | -11 1
24 | W [None 4SS-1 50 2SS4 170 220 6 NS50 -3 -3
25| N | EW| 5DXN-4 800 4SE4 620 180 5 EW600 | -5 1
26 E |Both 1SE3 140 2HW3 140 EW90 -2 2
27| S |None| 3Nw4 430 3NE4 430 EW420
28 | W | NS 2HE4 170 2HE3 140 30 1 EW180 -1
29 | N [Both|  3NN4 630 3NN4 630 NS630
30 E |None| 4SW4 420 4SE4 420 EW380 -1 1
A3 IMP| 6 |12 24 | 20
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B 14 1 7 18 K
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# 3-VP 7.82 12.18
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[3 ]

NS o@%% fras(R0) 5 T bl 3 1 1 NS s gx2(F0)
EW 1£R mAE~(FC) a e EW #&# 25ic(R0)
B# | DL | & Py k] MWEE E& 3 R% R A~ COP Datum
1
R tyze% | NS | EW | &yzu% | NS | EW | #5 [ #11 | #5 [#11] #5 [#11 || Mean | Ns EW
21 N NS 2DE4 130 2DE4 130 EW230 3 -3
22 E EW 4SW-2 200 2SW2 110 310 7 NS10 5 3
23 S |[Both 5HES 650 4HES5 650 EW530 -3 3
24 | W |None 2SS3 140 4SS-1 50 190 5 NS50 3 3
25| N | EW 4SE4 620 4SW5 650 30 1 EW600 -1 2
26 E |Both 1SE-1 100 1NW-1 100 EW90 5 -5
27 | S [None 3NW4 430 3NW4 430 EW420
28 | W | NS 2NE4 180 4HE4 420 240 6 EW180 6
29 | N |Both 3NN4 630 3NN4 630 NS630
30 E |None 4SW4 420 4SW4 420 EW380 -1 1
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Table 4

[3 ]

15 NS mz# #:i&3 (90
EW x4 %472 (R0)

B# | DL | & Py k] MWEE E& 3 R% R A~ COP Datum
1
i txz 2% | NS | EW | 29223 | NS | EW | #9 | #15 | #9 |#15 #9 [#15|] Mean NS EW
21 N NS 3NW4 430 1NW3 150 280 7 EW230 -5 -2
22 E | EW 2SW2 110 3HS3 140 250 6 NS10 -3 -4
23 | S |Both 4HES5 650 2HE4 170 480 10 EW530 -3 -8
24 | W [None 4SN-1 50 4SS-1 50 NS50 -3 3
25| N | EW 4SE4 620 4SE5 650 30 1 EWG600 -1 2
26 E |Both 2HW2 110 2HW3 140 30 1 EW90 -1 2
27 | S [None 3NW4 430 3NW3 400 30 1 EWA420 -1
28 | W | NS 4HW-1 50 2SW-1 50 EW180 6 -6
29 | N [Both 3NN5 660 3NN4 630 30 1 NS630 1
30 E |None| 4SW4 420 4SW5 450 30 1 EW380 -1 2
@ IMP| 4 |24 10 | 12
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NS #35 H18(R0) 8 T bl 5 1 3 NS £#:= ®E(F0)
EW  +hes 2% (FC) a e EW - ## #:=5(R0)
B# | DL | & #% ol 4 L ik REAA | COP Datum
1
¥l z9zmx | NS | EW | 25z2% | NS | EW | #8 | #13 | #8 |[#13] #8 [#13 || Mean | Ns EW
21| N | NS 2HW2 110 2HW4 170 | 60 2 EW230 | 3 2
22 E | EW 2SE3 140 2SW-1 100 240 6 NS10 -4 -3
23| s |Both| 3NwW3 600 4HE4 620 | 20 1 EW530 | -2 3
24 | W [None 4SS-1 50 4SN-1 50 NS50 -3 3
25| N |EW| aswa 620 4SW4 620 EW600 | -1 1
26 E |Both 1NXW2 380 1NW2 120 260 6 EW90 -7 1
27| s |None|  3NwWa 430 3NW4 430 EW420
28 | W | NS 2NW4 180 4HE4 420 240 6 EW180 6
29 | N |Both|  3NN4 630 3NN4 630 NS630
30 E |None| 4SW4 420 4SW4 420 EW380 -1 1
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NS #xk R#¥8(R0) 1 0 T bl 6 1 7 NS  Zsis H&#FE(FC)
EW sz §54 % (#C) a e EW mum FiE(R0)
B# | DL | & Py k] MWEE E& 3 R% R A~ COP Datum
1
R t¥z2% | NS | EW | 2x%3223% | NS | EW | #10 | #17 [#10]#17|#10[#17 || Mean | Ns EW
21 N NS 3DE3 110 3NW4 430 320 8 EW230 3 5
22 E EW 2SW-1 100 3SW-1 100 NS10 3 -3
23 | S |Both 3HE4 170 6HE-2 200 370 9 EW530 8 -12
24 | W |None 4SS-1 50 2SS4 170 220 6 NS50 -3 -3
25| N | EW 4SE4 620 4SW4 620 EW600 -1 1
26 E |Both 1NW-1 100 1NW1 90 190 5 EW90 5
27 | S [None 3NW4 430 3NW3 400 30 1 EW420 -1
28 | W | NS 3HE4 170 2SW3 140 30 1 EW180 -1
29 | N |Both 3NN4 630 3NN4 630 NS630
30 E |None 4SW-1 50 4SW4 420 470 10 EW380 10 1
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* B IMP 23 17
&3 IMP 23 17 ]
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NS m=3 23#&(R0) 1 T bl 7 7 NS ¢ & ®REFL(FO)
EW #i&a 2 22(9C) apie EW #&2% HE#(R0)
B# | DL | & 2R M3 ES A%EREA COP Datum
1
Kl z9zmx [ NS [ EW | 25z2% | NS | EW | #1 | #7 | #1 ] #7 |#1 | #7 || Mean | Ns | EW
21| N | NS 3NW4 430 6DE-3 150 580 1 EW230 | -5 -9
22| E |EW| 3sw- 100 3HS3 140 40 1 NS10 | 3 -4
23| s [Both| 4HE5 650 4HE5 650 EW530 | -3 3
24 | W [None|  4ss-1 50 253 140 190 5 NS50 | -3 3
25| N | EW 4SE5 650 4SE5 650 EW600 | -2 2
26 | E |Both|  1sE1 80 2HW3 140 | 60 2 EW90 2
27| S |None| 3Nw3 400 3NE4 430 | 30 1 EW420 | 1
28 | W | NS 4HE-1 50 2S5W2 110 | 160 4 EW180 | 6 -2
29 | N [Both|  3NN4 630 3NN6 690 60 2 NS630 -2
30 | E [None| 4sEs 420 4SE4 420 EW380 | -1 1
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NS #va& &2 (R0 6 T bl 8 16 NS #R% &4%31 (70O
EW me® §3#(P0 apie EW  Huics m(RO0)
B# | DL | & 2HE WEE ES A%EREA COP Datum
1
R txz 2% | NS | EW | 29223 | NS | EW | #6 | #16 | #6 |#16] #6 [#16 || Mean NS EW
21| N | NS 3NW3 400 2HW-1 50 450 10 EW230 -5 -7
22 | E | EW 2SW3 140 2SE3 140 NS10 -4 4
23 | S |Both 4HES 650 3NW3 600 50 2 EW530 -3 2
24 | W (None 4SS4 420 4SN-1 50 470 10 NS50 9 3
25| N | EW 4SE-1 100 4SW4 620 720 12 EW600 12 1
26 | E |Both 1SE1 80 1NW-2 200 280 7 EW90 -7
27 | S |None 3NW4 430 3NW4 430 EW420
28 | W | NS 3HE3 140 4SW4 420 280 7 EW180 1 6
29 | N |Both 3NN4 630 3NN5 660 30 1 NS630 -1
30 | E [None 3SE4 170 4SW4 420 250 6 EW380 5 1
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NS #pp m#E(R0) 3 T bl 9 12 NS #sk= F#R(FO
EW i#siw g=5z2(F0) a e EW $3+¢ #RERO0)
B# | DL | & #% ol 4 L ik REAA | COP Datum
1
¥l z9zmx [ NS | EW | 2mz2% | NS | EW | #3 | #12 | #3 [#12] #3 [#12|| Mean | Ns EW
21 N NS 2HW2 110 2HW2 110 EW230 3 -3
22 E EW 3CXS-1 100 3SW-1 100 200 5 NS10 -3 -3
23 | S |Both 3NW4 630 4HES5 650 20 1 EW530 -3 3
24 | W |None 3SS4 170 3SS3 140 30 1 NS50 3 -3
25| N | EW 4SE5 650 4SE4 620 30 1 EW600 -2 1
26 E |Both 2HW2 110 2DXS-2 500 390 9 EW90 -1 9
27 | S [None 3NW4 430 3NW4 430 EW420
28 | W | NS 3NE4 430 2DXS-2 500 70 2 EW180 -6 8
29 | N |Both 3NN5 660 3NN3 600 60 2 NS630 1 1
30 E |None 4SW4 420 4SW4 420 EW380 -1 1
@3 IMP[15 | 6 9 | 14
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B 3VP 13.14 6.86
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NS %%~ 24 H5(FO0) 4 T bl 1 2 NS m&s (R0
EW =%% %22 (R0) a e EW m#g mik= (7O
B# | DL | & #% MEZ cME ik REAA | COP Datum
1
R 2mzss | NS [ EW | 25zs% | NS | EW | #4 | #2 | #4 | #2 | #a ] #2 || Mean | Ns | EW
21| N | NS 3NWS5 460 5DE5 400 60 2 EW230 | -6 5
22| E|EW| 4sw-1 100 2SW2 110 | 210 5 NS10 | 3 3
23| s |Both| 2NE2 120 2HE4 170 | 50 2 EW530 | 9 -8
24 | W |None|  3sN3 140 4SXS-1 100 | 240 6 NS50 | 3 4
25| N | EW 4SE4 620 4SE5 650 | 30 1 EW600 | -1 2
26 | E |Both| 1NW1 90 2HW2 110 | 20 1 EW90 1
27 | S |None| 3NWa4 430 3NW4 430 EW420
28 | W | NS 2NE2 120 4HE-1 50 170 5 EW180 | 2 -6
29 | N |Both|  3NN3 600 3NN3 600 NS630 | -1 1
30 | E |[None| 4sw4 420 4SW5 450 | 30 1 EW380 | -1 2
&t IMP| 16 | 7 8 4
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* B INP 16 7
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bhi
NS #&g% mas(F0) 18 T bl 2 14 NS ssed mEw(R0)
EW %= wt £(R0) apie EW 27#% HER(FO
B# | DL | £ % MEZ 2RE ES R A~ COP Datum
1
i tyze% | NS | EW | 2yzu% | NS | EW | #18 | #14 |[#18[#14]#18]#14 || Mean | Ns EW
21 N | NS 3NW3 400 3NW3 400 EW230 -5 5
22 E | EW 2HW3 140 3SW-1 100 240 6 NS10 -4 -3
23 | S |Both 1CXN-4 1100 1DXN-4 1100 EW530 -11 1
24 | W [None 2SS4 170 4SS-1 50 220 6 NS50 3 3
25| N | EW 4SE4 620 5DXN-4 800 180 5 EWG600 -1 5
26 E |Both 2HW3 140 1SE3 140 EW90 -2 2
27 | S [None 3NE4 430 3NW4 430 EWA420
28 | W | NS 2HE3 140 2HE4 170 30 1 EW180 1
29 | N [Both 3NN4 630 3NN4 630 NS630
30 E |None| 4SE4 420 4SW4 420 EW380 -1 1
@3t IMP|12 | 6 20 | 24
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B 18 Ji33 14 1 7
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2 HVP 12.18 7.82
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5 NS x4 o (R0)
EW 228 BE~* (FO)

M

B# | DL | & #% MEZ cME ik REAA | COP Datum
1
R tyze% | NS | EW | &yzu% | NS | EW | #11 | #5 [#11] #5[#11] #5 || Mean | Ns EW
21| N | NS 2DE4 130 2DE4 130 EW230 3 -3
22| E | EW 2SW2 110 4SW-2 200 310 7 NS10 -3 -5
23 | S |Both 4HES 650 5HES5 650 EW530 -3 3
24 | W |None 4SS-1 50 2SS3 140 190 5 NS50 -3 -3
25| N | EW 4SW5 650 4SE4 620 30 1 EW600 -2 1
26 | E |Both 1NW-1 100 1SE-1 100 EW90 5 -5
27 | S |None 3NW4 430 3NW4 430 EW420
28 | W | NS 4HE4 420 2NE4 180 240 6 EW180 -6
29 | N |Both 3NN4 630 3NN4 630 NS630
30 | E |None 4SW4 420 4SW4 420 EW380 -1 1
B3 P |19 10 | 11
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]
NS mz& %3 (50 15 T bl 4 9 NS m= e 55RO
EW #x# %42 (R0) d e EW 5% peg(#0)
B# | DL | £ % MEFE 2RE ES A%EREA COP Datum
1
R tyzs% | NS | EW | £¢%2%2% | NS | EW | #15 | #9 |#15| #9 |#15| #9 || Mean | Ns EW
21| N | NS 1NW3 150 3NW4 430 | 280 7 EW230 | 2 5
2| E | EW 3HS3 140 2SW2 110 | 250 6 NS10 4 3
23 | S |Both 2HE4 170 4HE5 650 | 480 10 EW530 | 8 3
24 | W |None|  4SS-1 50 4SN-1 50 NS50 3 3
25| N | EW 4SE5 650 4SE4 620 30 1 EW600 | -2 1
26 | E |Both| 2HW3 140 2HW2 110 30 1 EW90 | -2 1
27 | S |None] 3NW3 400 3NW4 430 | 30 1 EW420 | 1
28 | W | NS 2SW-1 50 4HW-1 50 EW180 | 6 6
29 | N |Both 3NN4 630 3NN5 660 30 1 NS630 -1
30 | E |None] 4Sws 450 4SW4 420 30 1 EW380 | -2 1
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NS _Frewi0Y 413 |Table 5| 8§ Mo 22 mmdo
EW - %# #:5(R0) apie EW &% 5% (F0)
B# | DL | & #% MEZ cME ik REAA | COP Datum
1
R tyze% | NS | EW | &yzu% | NS | EW | #13 | #8 [#13] #8 [#13] #8 || Mean | Ns EW
21 N NS 2HW4 170 2HW2 110 60 2 EW230 2 -3
22 E EW 2SW-1 100 2SE3 140 240 6 NS10 3 4
23 | S |Both 4HE4 620 3NW3 600 20 1 EW530 -3 2
24 | W |None 4SN-1 50 4SS-1 50 NS50 -3 3
25| N | EW 4SW4 620 4SW4 620 EW600 -1 1
26 E |Both 1NW2 120 1NXW2 380 260 6 EW90 -1 7
27 | S [None 3NW4 430 3NW4 430 EW420
28 | W | NS 4HE4 420 2NW4 180 240 6 EW180 -6
29 | N |Both 3NN4 630 3NN4 630 NS630
30 E |None 4SW4 420 4SW4 420 EW380 -1 1
@3 IMP[12 | 9 10 | 15
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Table 6

[3 ]

10 NS ik BRirg(R0)

M

EW Hum $ER(RO) EW #tim 554 2 (FC)
B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
R tyze% | NS | EW | 2yzu% | NS | EW | #17 [ #10 [#17[#10[#17[#10 || Mean | Ns EW
21 N NS 3NW4 430 3DE3 110 320 8 EW230 -5 -3
22 E EW 3SW-1 100 2SW-1 100 NS10 3 -3
23 | S |Both 6HE-2 200 3HE4 170 370 9 EW530 12 -8
24 | W |None 2SS4 170 4SS-1 50 220 6 NS50 3 3
25| N | EW 4SW4 620 4SE4 620 EW600 -1 1
26 E |Both 1NW1 90 1NW-1 100 190 5 EW90 -5
27 | S [None 3NW3 400 3NW4 430 30 1 EW420 1
28 | W | NS 2SW3 140 3HE4 170 30 1 EW180 1
29 | N |Both 3NN4 630 3NN4 630 NS630
30 E |None 4SW4 420 4SW-1 50 470 10 EW380 -1 -10
@3t IMP| 17 |23 13 | -25
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Table 7

1

NS

mEE 33F&(B0)

EW & 34850

10

M

B# | DL | £ % MEFE 2RE ES A%EREA COP Datum
1
¥l z9zmx [ NS | EW | 2mz2s | NS | EW | #7 | #1 | #7 | #1 | #7 | # || Mean | Ns EW
21| N | NS 6DE-3 150 3INW4 430 | 580 1 EW230 | 9 5
2| E | EW 3HS3 140 3SW-1 100 40 1 NS10 4 -3
23| S |Both|  4HE5 650 4HES5 650 EW530 | -3 3
24 | W |None|  2ss3 140 4551 50 | 190 5 NS50 3 3
25| N | EW 4SE5 650 4SE5 650 EW600 | -2 2
26 | E |Both| 2HW3 140 1SE1 80 60 2 EW90 | -2
27| S |None|]  3NE4 430 3NW3 400 30 1 EW420 -
28 | W | NS 2SW2 110 4HE-1 50 160 4 EW180 | 2 6
29 | N |Both|  3NN6 690 3NN4 630 60 2 NS630 | 2
30 | E |None|] 4sE4 420 4SE4 420 EW380 | -1 1
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~L J /s
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b1
NS +R¥ &%7(F0) 1 6 T bl 8 6 NS #7v3 ¢ = (R0)
EW ik m(R0) apie EW me® §#%#(F0)
B# | DL | & #% MEZ cME ik REAA | COP Datum
1
¥l 29zmx | NS | EW | 2522+ | NS | EW | #16 | #6 |#16] #6 |#16] #6 || Mean | Ns EW
21 N | NS 2HW-1 50 3NW3 400 450 10 EW230 7 5
22 | E | EW 2SE3 140 2SW3 140 NS10 -4 4
23 | S |Both 3NW3 600 4HES 650 50 2 EW530 -2 3
24 | W (None 4SN-1 50 4SS4 420 470 10 NS50 -3 9
25| N | EW 4SW4 620 4SE-1 100 720 12 EW600 -1 -12
26 | E |Both 1NW-2 200 1SE1 80 280 7 EW90 7
27 | S |None 3NW4 430 3NW4 430 EW420
28 | W | NS 4SW4 420 3HE3 140 280 7 EW180 -6 -1
29 | N |Both 3NN5 660 3NN4 630 30 1 NS630 1
30 | E [None 4SW4 420 3SE4 170 250 6 EW380 -1 -5
w3t [MP|20 |35 2 | 15
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M

NS #%ks E#A(FC) 1 2 T bl 9 3 NS #t#r maEir(R0)
EW #31¢ gm0 apie EW i 3% (P0)
B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
R tHz2% | NS | EW | 2x%223% | NS | EW | #12 | #3 [#12] #3 [#12] #3 Mean | NS EW
21 N NS 2HW2 110 2HW2 110 EW230 3 -3
22 E EW 3SW-1 100 3CXS-1 100 200 5 NS10 3 3
23 | S |Both 4HES5 650 3NW4 630 20 1 EW530 -3 3
24 | W |None 3SS3 140 3SS4 170 30 1 NS50 3 -3
25| N | EW 4SE4 620 4SE5 650 30 1 EW600 -1 2
26 E |Both 2DXS-2 500 2HW2 110 390 9 EW90 -9 1
27 | S [None 3NW4 430 3NW4 430 EW420
28 | W | NS 2DXS-2 500 3NE4 430 70 2 EW180 -8 6
29 | N |Both 3NN3 600 3NN5 660 60 2 NS630 -1 -1
30 E |None 4SW4 420 4SW4 420 EW380 -1 1
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